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B C E F
AB =DE, BC = EF,
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@®)YAC =DF ® AC =EF

@®AB = DE, BC =FEF, /B = /E (SAS &%)
@ AB = DE, BC = EF, AC = DF (SSS &%)
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(B ol)=4x4 = 16(cm?)
(FEo])=4x (4 x6) = 96(cm?)
L (B4l = (EHol) x 2+ (FH°l)
=16%x2+96
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(B 1))=(THo])x (%) = 27 x 6 = 162(cm?)
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whebA] (B a))= 7 x 4% x 7 = 1127 (cm?

)




o J™oA x° 1y 122 =2:3:5 4 o, Al ZF FollA 71 22
Zte] 2717

@ 18 @ 30 <Z§)36 @ 48 ® 50

N
N
o3l
2
rlo
)
o

2
ﬂﬂ%fﬂﬂif:wmxmz%mﬂq




<t

@ I1m
A

90° o]t}

L)
1

® 2 AMQ 2] 27]




® 37

@ 271

@ 47

Zolct.

N
J

st

uzel

Ful

Zs

T
el

o




9. o= ;\%194 40 Oﬂf\j\AAOB : /BOC : £COA =5 :4:3 oJt},
5.0ptAB Z 0|7} 5.0ptAC Zo]o] & vjelz] T 2H?

A

5 1 5 4 5
© W @sm  o-H @oH Q)

LAOB = 360° x % = 150°,

£COA = 360° x i =90° ot}

wed B AB 2] Zol 5 AC o Fol2] - uj olc.




AtetE|Eo| .

2d=




989
A D
|
B |
— I8
|
E_ _ i
7
Fk d
@ olENEAE @ ALY (©EREE:
@ A2 ® tEw

= AH, AB = GH, BG//AH, AB//GH, /ABG = 90°
olBZ T3 ABGH & ZlALzZH o]t}




12. o 2387 22 A2 ABCD € ¥ CD & 502 5fo] 1 9|4
A o A7) GAIEF O Fule?

A_---—"6----_D

\

2

/
/

B C

©) k&2 @ 80r ® 867 @ 90r ® 967

1Y H CD & 07 1 3|AA|7|H Y47]5°] Het.
et A7]59 Rl V=12 x =0] = 627 x2 = 36nx 2 =

72 o]tk




13. thg 29 2L AAEG O] H7k 12rem?® D wl, o] g2

12
6%1')(#5)(/’12727[

“h=6




14.

e YAEFLS ASAA N4 BH CGHD
2 et e o e REolth e F
A4 CD 9 291 9170 Y BA TR
HAo 7 227

@® GH,EH @)AE , EH
® AD, BC @ EF,FG
® AE, AB

BF ,EA,EH, FG




15. oj#H

24749, 21 70

®

47y, 14 70

@
®

3,971

T

N

O =

749, 24 7

1l

.20 7H

T

N

Ul

ol
mm.o
=

~H

J
5

o

Hr

— 20(7f) oIk,




16. o= 27] FollA Aol &4 o2 A7

H7
o 7V © 9= © 92
@ AHE @ @ 72
® HAFHA © AEHA

® ¥4 -9, @,@ ®, ©

@ #9714 -0,©, ®

® F whol YPT YA=F - 9, ©, @

@) awel negol 424G YAEE - ©, @, ®
® Ated - ®, ©




B

8 7h

© 42715

@ o7+ 7 7Y

® dZEd: 970
@ A& 5 70

® SZHE: 77

tE.o ol A7t 8 ol B o] vt

97]

Z

A

@olrt.




18. ohe I gL 97150] Aol

SNERN

~=12cm- -
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® (60 + 54mr)cm? @(72 + 457)cm?
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(6 X 12) + (37 X 12) + (7 x 3%) = 72 + 457(cm)
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(B4ylo]) = x22x % = 2n( cm?)
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(Fylo]) = (2 x 2 x 5 +4) x 6 = 127 + 24(cm?)

(BYol) = 2rx 2 + 127 + 12 = 167 + 24(cm?)
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V=nx52Xx8—nx2?x8=1687(cm?)
S=2x(rx52—nax2%) +21x5x8+ 21 x2X8
= 427 4+ 80m + 327 = 154 (cm?)




